Spring Test 1

1 | 1x1= 2 | 392 +419=

3 =4X7 4 | 28%X4=

5 |12%x8= 6 | 6734 — 3874 =

|u-|

+
—
=

7 =300 X9 8

—_
N
—_
N

O | 3 x8480 = 10 | 300 x 400 =

11 | 647,374 — 85,636 = 12 =4X33X5

13| 8438 X 5= 14 | 8652 + 3 =

U U

15| 643 + 783 = 16 _ % X 400

U U
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Spring Test 1 (continued)

17 | 14-10+2= 18 | 0.002 X 100 =

19 %X4= 20| 30% X 40 =

3|8

2 X |76 22 4011902

(2 marks) (2 marks)

. O
23 X 20 = 4000 24| 1 x =

8 O
25 =-2+4 26| 0.7 + 1000 =

O O
27| 5313+ 7= 28| 70% X 400 =

8 O
29| ;- 7- 30| 5 +2=

O O
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Spring Test 1 (continued)

31 32

(2 marks) (2 marks)

U U

Total marks lsej

How well did you do? ¥ 28 [15]23

Colour the numbers of the — 6 | n[17]27

questions you got correct. X 13457 |w0]12{13|18]19|21|22]30
= 14 (172024 |25]28 |29
Fractions 819 [16]22]|27(28

Decimals 15118 24|25
Missing no. | 21
BIDMAS 17
Percentages | 26
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